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HELLO EVERYONE!
Last time, we talked about the main points of syntax.

We will have only four lectures for syntax. Then we will start
with semantics and pragmatics.

Before we start, I want to tell you that we will not have a lecture
next week and the week after. After these two weeks, we will have
two lectures each week; either we will have two lectures on
Fridays or one on Friday and the other on Saturday. Most probably
we will have two lectures on Fridays from 9:15 to 12:00 for two

weeks.
We said that syntax is the way we form sentences.

We talked about constituents. We said they are a group of
words that form the syntactic category like a noun phrase, verb
phrase, adjective phrase...etc. They can stand alone as a phrase.
We talked about tests to identify if it is a constituent or not. We
said that we have three tests:

1) To form a question
2) Replacement by pronouns or verbs like (do).
~ 3) Movement as a one unit.
* %k

Today we will talk about “phrase structure rules”. Phrase
structure rules are related to syntactic categories (noun phrase,
verb phrase...etc.). The constituent is not necessary a noun phrase.
It could be only a noun or an adjective for example.

What is the “tree diagram™?
It is a formal device to test your knowledge about syntax.
- The boy found the ball.

.I will test- your knowledge about syntax by drawing a tree
diagram, |

Let’s see:
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These are called nodes.

Art

N

Art

The boy found the ball

“The boy found the ball” all of it is a sentence [S]. This sentence
consists of a noun phrase [NP]; “The boy”, and a verb phrase [VP]; “found
the ball’. Any sentence in English has a noun phrase and a verb phrase.
The first noun phrase is made up of a determiner (article); “The” and a
noun; “bay”. :

The verb phrase consists of a verb and a noun phrase. The verb [V] is
“found”, and the noun phrase is the article “the” and the noun “ball”.

As you can see in the pictures, we have something that is called
“nodes”. What does “nodes” mean?

For example, this sentence dominates noun phrase and verb phrase. This
noun phrase dominates determiner and noun. The verb phrase dominates
verb and noun phrase. The last noun phrase dominates the determiner and
noun. ‘

.(node ey (bl g 3 JS 4—“)“3‘ 3 gall ga 7 il A il

A node is a point in a tree diagram or syntactic tree that can be assigned
a syntactic category label.:

How many nodes do we have in this tree diagram? We have four nodes.

Notice that the noun phrase and the verb bhrase are sisters because thev
are dominated by the sentence.

The same is with the determiner and the noun. They are sisters because
they are dominated by noun phrase.

Let me ask you this question: Does the verb phrise dominate the verd

and the noun phrase only? No. It dominates also the determiner and the
noun. .

So this verb phrase dominates verb, noun,phrase, determiner and noun.
‘But immediately it dominates the verb and the noun phrase.
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After this, at the last level, we have the constituents.

You need to learn these terfns (nodes, sisters, constituents, dominate
and syntactic category.)

The syntactic categories are called “labels”.

How many {abels do we have in the tree? We have nine labels.

In the EXAM, you will face “labels” like noun phrase, verb phrase,
prepositional phrase, etc. We call them labels.

This is a simple sentence. All of you know that this is a structure, When
we talk about “phrase structure rules”, it means we have rules. We can
call them “phrase structure rules” or “constituent structure rules”.

Let’s write rules according to the tree diagram:
COSoNPHVP e
The sentence dominates the noun phrase and the verb phrase
. @NP-determiner +N ..o i o
The noun phrase dominates determmer and noun, “
OV R B e ity
The verb phrase dommates verb and noun phrase.
So we have three rules. Till now we are dealing w1th simple sentences.
If'1 say: '

- Sara slept.
This sentence consists of a noun phrase and a verb phrase: S— NP VP,

The noun phrase is just a noun (Sara), and the verb phrase is the verb
(slept).

If I changed (Sara) with (The boy):

- The boy slept.

Here the noun phrase is a determiner (The) and a noun (boy).

We have a new phrase structure rule here:
- VP-* v = .

It is not necessary to have a noun phrase. This verb (slept) is an

——
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intransitive verb. 1f we have a transitive verb, we need a noun phrase.

In the previous example “Sara slept”, we noticed that a noun phrase can

be a group of words or just a noun.

What if I say:

- The boy played in the garden.
Here we have a prepositional phrase [PP]. Let’s draw this tree:

S
NP VP
det. N \Y; PP
)
Prep. NP
AN
th. N

The boy played in the garden
We have new phrase strLICtLIre rules:
?§©Vp~VPP ¥y
: _ ® PP - Prep NP

The prepositional phnase [PP] Is made up with a preposmon [Prep.] and -

a noun phrase [NP].

Let’s move to something more complicated. We produce and
understand limitless sentences because it is part of our knowledge. To see

how this happens, we need syntax to understand what happens. Nothing is
random.

- The professor said that the student passed the exam.

Here we have a sentence within a sentence. We call it “embedded
sentence”, In syntax, that word (#ia) is a complementizer. "

The first sentence is “The professor said”. Then we have a
complementizer “that”. Then we have an embedded sentence “the student
passed the exam”. TN
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L.et’s draw the tree:

S
NP VP
A\ ——
/ \\ \'*\.,
det. N \Y) CP
/\\\
C S
/ N
W
A |
det. N Vv NP
' 1/’ \\
det. N

The professor said that

student passed the exam

[CP] is a complement phrase or we call it complementizer phrase.
[C] is a complementizer.

So under the verb phrase we have a verb [V] and a complement phrase
[CP]. Under the complement phrase, we have the complementizer [C] and
a sentence |S]. Then we analyze the sentence the way we did before.

In English we have three complementizers. They are (that, whether
and if"). For example:

- Idon't know whether you understand this lecture.
Here we have a sentence within a sentence. The same structure.

BE CAREFUL, I am NOT talking about the conditional “if”. | am
talking about “if” complementizer like when [ say:

- Idon’t know if he passed the exam.
Here (if) is a complementizer.
Try to practice at home. We have two extra rules:
®ve-vce
~ The verb phrase dominates a verb and a complementizer phrase.
@cp~cCs | | |

~ The complementizer phrase dominates a complementizer and a
sentence. These are phrase structure rules or constituent structure rules.

—— —
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] want to test your understanding. 1 will write a sentence:
- | wonder if you can attend the lecture.

Here in the verb plnase we have an auxiliary and a main verb
Let’s draw the tree:

S
//\\
NP VP
/,/\‘\\
Vi CP
P . . /\
ro C 8
’TP aux VP
Pro v NP
\ det. N
| wonder jf you can attend . jeciure -

Let’s have another sentence:

- The girl walked down the street with a gun ;oward the bank.
This sentence has three prepositional phrases:

1) The girl walked down the street
2) The girl walked with a gun
3) The girl walked towards the bank

What shall I do according to phrase structure rules?

We repeat the verb phrase because we have three prepositional phl ases i
for the same verb phrase. i

There is a new rule. We call it “recursive rule”. In English, we can add’-,_' .
limitiess prepositional phrases, adjectives, (that) clauses. In this case, thele_- =
is a rule called “recursive rule”. It means to generate new rules.

We have this rule: VP = V PP

How can | modify this rule? In this case 1 say that the verb phlase: "
dominates a verb phrase and a prepositional phrase: |

VP = VP PP

This is a new version of the rule. We have a verb phrase ﬁom a vexb
phrase because we have something repeated. We have three pleposmonal
- Phrases, so we have three verb phrases.
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‘Let’s try to draw the tree:

. vP. »
Det : VP il :
.t-he. glrl yp P NP_
PP ‘pj NP toward Det: = N
.| _ /\ | //\\ ' _ -
v P NP with D& N = the ' bank

PR I NPT ¢

walked .down Det - N a g

[

the .o street.

Read everything at home please.

Thank You ;'

Page: Ayl Clasall gsilell duwgo

Group: ooyill paus - agidall edeill - (saflell diiso
: ol 34 5V AR | P

0112119889 raila v

0941 322227 :LTsLmIU + d_..'l.n}n N

mmmnmum .

25468

Sematics & Synatx 3.2 g AYDI 2022

CamScanner



